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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

o —— —

Q1 The physical place where a computer stores information is called:
Ans X 1. POP
X 2. Wi-Fi
< 3. Modem
v 4 Hard disk

Question ID :
Option 11D :
Option 2 1D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095282
21340921126
21340921128
21340921125
21340921127
Answered

4

1253+8x2+4=18

Ans x’ 1
> 2
W

y

=+

X

Q.2 Safafag TEEoT # TUET 79 ¥ T8 5 § B ST ¥ o B 9 e & sger e o

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095333
21340921330
21340921332
21340921329
21340921331
Answered

3
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¢

Q.3 w 12 V ¥ &1 5 0 IR % WY THC FH H S S § 57 Sl SR Se & A= ael a

Ans 1. Velocity of load
« 2. Mechanical advantage

X 3 Ioad
X 4 Velocity of effort

Eci oy
Ans X' 1.15 A
v224A
K328 A
< 4.2:00 A
Question 1D : 2134095297
Option 1 1D : 21340921185
Option 2 ID : 21340921187
Option 3 ID : 21340921186
: 21340921188
: Answered
Q4 =y R T eral F R F P THeARYT AR smEETef e 7
Ans X 1. ARERES
X< 2. ENP
X 3. APEPR
v + HCRAI
: 2134095338
: 21340921352
Option 2 ID : 21340921349
Option 3 ID : 21340921351
Option 4 ID : 21340921350
Status : Not Answered
Chosen Option : --
—
Q5 The ratio of resistance to overcome to the effort applied is referred to as:

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095286
21340921142
21340921143
21340921141
21340921144
Answered

2

Q.6 afy v FR 3.2 m/s? F TN F WY A Y FEA L, A 20 Fehs qE 37 BN F AT (mfs FH) AH
HifaT)

Ans ?( 1. 36
V2 64
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<3108
X472

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 2134095295
1 21340921177
121340921179
121340921180
121340921178
: Answered

12

Q.7 A bearing or other device is needed to hold the beam in
Ans X 1. Class 1 and 3
X 2 Class 1
X 3 Class 2
4 Class 3

lever/levers,

S

1340921139
Answered

2% 1997 & AN s frer

Ans 3 1. TogAT o

X2 UF eo

X 3. ggEafT

v . e
Question ID : 2134095252
Option 1 ID : 21340921005
Option 2 ID : 21340921007
Option 3 ID : 21340921008
Option 4 ID : 21340921006

Status : Answered
Chosen Option : 3
e

Q9 7z o1 @ o1 FE Wa HfET, B 28 ¥ T H W g dEar o 79 a8
Ans X1 4
X2 2
X314
Va7

Question ID : 2134095322
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Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

21340921285
21340921288
Answered

4

061 afy BEr T s & WICKET & UGAICR fram Jmar &, & 38 s & MAD #r 3 forar seem?

Ans X 1. EDC
v 2 KYB
X 3 PKN
X 4 WDV

1 2134095331
: 21340921321

‘7‘1'1 The resistance of a uniform metallic conducto

« 4 inversely proportional to

Question ID : 2134095296
Option 1 ID : 21340921184
Option 2 ID : 21340921181
Option 3 ID : 21340921182
Option 4 ID : 21340921183
Status : Answered
Chosen Option : 4
e =
Q.1 A solid sphere of diameter 12 cm is melted and Ehre&_&;hof_i;_:a._te prepared. If the diameters of two shots are 6 cm and 10
2 cm respectively, what is the surface area (in cmz) ofﬂ,ae-.;_thjid shot?
Ans 31 32
X2 24m
v 3 64m
X 4 48w
Question ID : 2134095303
Option 1 ID : 21340921210
Option 2 ID : 21340921209
Option 3 ID : 21340921212
Option 4 ID : 21340921211
Status : Not Answered
Chosen Option : ==
Q.1
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& T ST F T U5 Fuieyd ¥ R v fwent # @ 97 @ fwew 9, S sm@er @ aw w e
0.35, 0.49,0.63,0.77, 2, 1.05

Ul 4% = wwafe = 1 & R 21200 ¥ IR T T &

Ans X 1.19.33
X 2185
V'3 1767
X420

Ans o 1.0.91
< 2 0.83
< 3.0.95
X 4087
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :

Option 4 ID :
: : Answered
1

2134095329

21340921314
21340921313
21340921316
21340921315

Option 3 ID

Status

12134095310

121340921238
1 21340921240
121340921239
Option 4 ID :

21340921237

: Not Answered
Chosen Option :

5 g (2,3) 1 X3 W gfatE
Ans %1 (-2,3)

X2 (3,2)

W 3 (2,-3)

X4 (-2,-3)

Question ID
Option 1 ID
Option 2 ID

Chosen Option

12134095313
: 21340921250
: 21340921252
Option 3 ID :
Option 4 ID :
Status :
03

21340921251
21340921249
Answered

Q.1 fardr amsEAfEE 797 (isometric view) FT 3UTNT FIa THT, 3T 39 3@ F A et 97 @it

6 st mgmy & For o T A E
Ans X 1. 180-fah
< 2 90-fafr
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v 5 1202

X 4 0-TEEfY
Question ID : 2134095272
Option 1 ID : 21340921088
Option 2 ID : 21340921086
Option 3 ID : 21340921085
Option 4 ID : 21340921087
Status : Answered
Chosen Option : 3
°7-1 Who is popularly known as "The Picasso of India"?
Ans X 1. Abanindranath Tagore
+ 2. M. F. Hussain
/< 3. Kanu Desai
/< 4 Ramkinkar Baij
Question ID ;2134095255
Option 1 1D': 21340921018
Option2 ID; 21340921019
Option 3D : 21340921017
Option 4 1D : 21340921020
Status : Not Answered
Chosen Option : -
—_— —_—— = . ;'
QU 2 wEmat F LCM 48 1 3w e 2:3 ¢ HEmsi w1 o e Ao
Ans X 1. 24
v 2 40
2330
X4 48
Question ID : 2134095306
Option 1 ID : 21340921224
Option 2 ID : 21340921223
Option 3 ID : 21340921222
Option 4 ID : 21340921221
Status : Answered
Chosen Option : 2
Q1

9

Ans

ar =T, C #R D, U SHeR @ T@eT % & g1 C, 2 km 3ol #1 AN Foa §, B v @ A
TS & AT 5 km ToAT g1 S &9 D, T &7 AR 5 km T9ar ¢, B @ AR Hgr g 3R 6 km T@ar
% C #r 9w T ¥ amder D & 78Aw Tl T i

X1 DCHFIRT4Ikm BT T WE
X 2D, C % gf@ior & 4 km # g W E
XD, CHFFRHFSkmFrgr W ¢
ViD CHEBITHSkm F g W&
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Question ID : 2134095349
Option 1 ID : 21340921396
Option 2 ID : 21340921394
Option 3 ID : 21340921393
Option 4 ID : 21340921395
Status : Answered
Chosen Option : 4

T feafat@a & @ #ia @ gdw Aol # sedes w9 3

Ans X,]_ g\mm
X 2 FRrAEd
X3 wEeR
4w afgT @ Sem

v : 213409 z

D : 213409

ID:2 1921148

on 3 ID 40921145

] Option 41D : 21340921147
’ Answered

S ] 14
-

A T %

Q.2 502 W/(m- K) $r F~aT1 =rerear arst e
cm ¥ TfE =T ¥ 3= Rt F $= 300°C F=
T aT AT g

Ans X 1.3.0 kJis
X2 40 ks
X3 1.0 kdis
V4 20 kils

, o

60

Question ID : 2134095290
Option 11D : 21340921159
Option 2 ID : 21340921160
Option 3 ID : 21340921157
Option 4 ID : 21340921158
Status : Not Answered
Chosen Option : --

Q2-2 TH FEG F 642 T I T, FEH IHF HT T 2 600 o7l 3T AT F sl AT ARw?

Ans X 1.0.05
X 2. 0.065
'3 007
X4 0.08

Question ID : 2134095305
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Option 4 ID : 21340921218
Status : Answered
Chosen Option : 3

Q.2 go 0, 120 0 3%¥ 240 0 F S gfaRret Fr TAET FA F [T 0T F1 T F 5T AWET Fr F
3 12 v ¥ ¥ S o ¥ Ak R o T & g @ e amr A Y

Ans o 1. 0.3 A
X23A
X3 009 A
X409 A

: 2134095298
1 21340921189
: 21340921190

%% 2, 5, 8, 14, 21 &7 #ATET (mean) A

Ans X195
v 2 10
<39
X4 85
Question ID : 2134095320
Option 11D : 21340921279
Option 2 ID : 21340921280
Option 3 ID : 21340921278
Option 4 ID : 21340921277
Status : Answered
Chosen Option : 2
e _— e
Q.2 R 2 amer &, '+, X F ERT FTGT S BT &1 g X # PR wwar § ek
5w u g SR FE ¥ 3 Tea F SRR e e # seR T A
2-6x3+4=27
Ans o110
X22
<38
X412
Question ID : 2134095332
Option 11D : 21340921326
Option 2 ID : 21340921327
Option 3 ID : 21340921325
Option 4 ID : 21340921328
Status : Answered
Chosen Option : 1
Q.2
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6  Given below is a statement followed by two assumptions numbered I and II. You have to decide which of the
assumptions is implicit in the statement.

Statement:

Five-day week will reduce stress on employees.

Assumptions:
I.  Employees are always stressed due to personal issues.

II.  Five-day week is the new global trend.

Ans  of 1. Neither assumption I nor IT is implicit
< 2. Only assumption I is implicit
#< 3. Both assumptions I and II are implicit
< 4. Only assumption II is implicit

°7-2 fr=fafaa & ¥ 37 99 #r ggae #:i
Ans  of 1 oraSy
X2 TeAtaTS
X Rt
x4 g%

6 Question ID : 2134095277

Option 1 1D : 21340921108
Option 2 ID : 21340921106
Option 3 ID : 21340921105
Option 4 ID : 21340921107
Status : Answered
Chosen Option : 1

Q.2 37 fyweT & 994 HY, J G FEA ¥ 3H THR AT ¢, 5 TR g@d 5E, 9Eer e
8 e &1
1357 : 64 = 13579 : ?

Ans X 1. 625
X2 25

v 125
K45

Question ID : 2134095326
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Option 4 ID : 21340921301
Status : Not Answered
Chosen Option : --

Q2 o iz 3l RREETS x = 0 m F T IF A & AR x 7T F wARET 3 mis? F mw emor F
9 [T TAAT &1 SHRT AT F SR x = 13.5 m T x = 54 m & €= g0 g 3 Traam gt

Ans X185 mls
X212.0 m/s
¥'3 135 mis
2 4.10.0 m/s

: 2134095288
1 21340921149
: 21340921151

1340921152
21340921150

b 3w T w1 Tmw HfFw, 5 A

Ans

oooog
ooQg

A ==
O O
ooogo
og
X 2 o o
O 0
] O

oo
X&D>GD
O O

ak
0O 0
X+lu g
opOnO

Question ID : 2134095346
Option 1 ID : 21340921383
Option 2 ID : 21340921381
Option 3 ID : 21340921384
Option 4 ID : 21340921382
Status : Answered
Chosen Option : 1

% S SRR SEdr &, THY & T a0 & g & onh
Ans «13-'|ﬁ;|'
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2 2. gt

X 3 9T

=

X 4 T

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095253
21340921012
21340921009
21340921010
21340921011
Answered

2

% w sreg-ofFT (hp) 1 hp =
Ans 1. 500

X 2 646

X 3 846

v 748

1 21340921058

: 21340921060
tion 4 ID : 21340921059
Status : Answered
Chosen Option : 4
Qé3aa(5)501a$r126;ﬂ'ﬁ'rmﬁmﬁ~‘mm STe @2
Ans 1. 89
X 2117
V'3 125
X412
Question ID : 2134095302
Option 1 ID : 21340921208
Option 2 ID : 21340921207
Option 3 ID : 21340921205
Option 4 ID : 21340921206
Status : Not Answered
Chosen Option : --
——_—

°4'3 Electric current was considered to be the flow of:
Ans 3 1. Negative charges

< 2. Dielectric

« 3. Positive charges

5 4. Magnet pieces

11/56



Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095300
21340921197
21340921200
21340921199
21340921198
Answered

1

Ans 1343 em
X245 cm
/<36 cm
X4 4 cm

% 77 °F fefataa # ¥ &
Ans 1 o5 0
X210°C
Xs320°C
X4+16°C

% 5w & ol & s e Ao, S e 3 om #7

21340953

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

Chosen Option :

2134095276
21340921104
21340921101
21340921103
21340921102
Answered

1

A3 AXYZ is right angled at Y. If £X = 45°, then sec R =?
Ans x 1. 2

Question ID :
Option 11D :
Option 21D :
Option 3D :
Option 4 ID :

2134095316

21340921264
21340921262
21340921263
21340921261
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l Chosen Option : 1

S

Q§3 frfaf@a & & 59 a¥ 2018 & e wffvam #i% $f3ar (BAI) &7 =am sreer 9= rar?
A *
" . fgEar REar g

X 2. GRIA HIGeRIOT

X 3 |EAT Agaret
X4 oy, g

Question ID : 2134095259
Option, 1 ID : 21340921034
Option 2 ID : 21340921033
Option 3 ID : 21340921036
Option 4 ID : 21340921035
Status : Answered
Chosen Option : 1

% dega g & sl S &
Ans x1- m{m

X 2 ofFqgr/aeR

X 3. TEem

v 3 Fel

Question ID : 2134095261
Option 1 1D : 21340921041
Option 2 ID : 21340921043
Option 3 ID : 21340921042
Option 4 ID : 21340921044
Status : Answered
Chosen Option : 4

Qd4ﬁ‘tﬁ'ﬂ#ﬁ:mlﬁilﬁhmm,hmmawméﬁ%ﬁmm%maﬁ
geT: Fam # Fsel AR wEfet 1 s A Hifee?
A
) & & 20 o= |
Il) ¥ e F SRRt it orst S TEst & e 3 7 B
A 1 e 1| 3TheT ST ¥, Saf | 3rheT TOTT AT &
X2 grar &u | 1 Fue || 9areg g
X 3. FUT | HFT AT &, TR || 37T TATT Jar &

XegaFagldiRarFsaa |l gaeg &

Question ID : 2134095340
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Option 4 ID : 21340921360

Status : Answered
Chosen Option : 4
Q4 _: . w
1 PREE FT I8 AGT Far 2UT g7
Ans x .
1. UTSeE
X 2 FgaaH
X 3 freidie
v i FafEaT
. ETTT N,
Question (D : 2134095256
Option 1 1D : 21340921022
Option 2 ID : 21340921023
Option 3 ID : 21340921024
Option 4 ID : 21340921021
Status : Not Answered
l Chosen Option : --
T ‘—-
Q.4 . : :
> FYHSS & FeAR T W ASE dE T 3915 2
Ans ' =
X 1. AT W W (UV) @&fesor F gare
X 2. FIESIST 9T W (UV) TEfEor & g
X 5. ffemE 9T wETET ((UY) @Bfor & gare
v 4 TS 9T e (UVY) RBfEeT F geare
[ Question ID : 2134095263
Option 1 1D : 21340921050
Option 2 ID : 21340921051
Option 3 ID : 21340921052
Option 4 1D : 21340921049
Status : Answered
Chosen Option : 4
U o 5g #2760 H I A W 5% H @ g8 TG T FT 7T FA G
Ans 1. 3 800
< 2.7 960
/&< 3 7 1000
< 4 7 840
Question ID : 2134095304
Option 1 1D : 21340921213
Option 2 ID : 21340921215
Option 3 ID : 21340921216
Option 4 ID : 21340921214
Status : Answered

Chosen Option :

1

14/56



Q4-4 When you double the speed of a car. it takes fimes more distance to stop it.

Qé4mﬁmﬁ$mﬁmﬁﬁaﬁﬁﬁmmgm

Ans X1_ QF-lGﬁ':FﬁET
v 2 T
X 3 FrEHRY
X 4 THERT

Ans X 1. three

< 2. one

X 3 two

W 4 four
Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :

Option 4 ID :
: Answered
14

2134095293

21340921171
21340921172
21340921170
21340921169

: 2134095278

121340921112
Option 2 ID : 21340921109
Option 3 ID : 21340921111
Option 4 ID : 21340921110
Status : Answered
Chosen Option : 2
Q.4 s 05 kg FoieT $7 3E & 20 m 5 ARG H N T W TE ¥ &% TE I
& aifasT =T 4 gl (g = 10 mis? A W)
Ans o 1100 J
<220J
<380 J
X4 404
Question ID : 2134095267
Option 11D : 21340921068
Option 2 ID : 21340921065
Option 3 ID : 21340921067
Option 4 ID : 21340921066
Status : Answered
Chosen Option : 1

G oeafefee # @ #iF @ g7 TR TeT @ weia §7
Ans 1 fyafarm
X2 Far
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V-

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095260
21340921040
21340921037
21340921038
21340921039
Answered

4

Q.4 (3rrEax 2018 &% % RFE & AR FeATET Feara F 97T B WY F 3T 7 TAY AU A w
8  orr Temdr @ AT

M e o
X2 gaa 9
X o i i WY
X o e e

\ption 3ID:
ption 4 ID

1 21340921002

21340921004

21340921003
: 21340921001
Status : Answered
Chosen Option : 1
%* The density of an ideal gas can be d
Ans 1. Velocity
X 2. Mass
< 3. Pressure
« 4 Absolute temperature
Question ID : 2134095269
Option 1 1D : 21340921076
Option 2 ID : 21340921075
Option 3 ID : 21340921073
Option 4 ID : 21340921074
Status : Answered
Chosen Option : 4

Q.5 orzg A, 50 Frex® / wer Fr 2T F UF T F AT §1 TET B FT U ST A F 4 OF e F
0 T T Tiel S IX, § F6F T &7 2 " H 3w &g &1 & F 3mmas A Hifew?

Ans X 1100 m?
<2150 m?
X3 225 m?
v 200 m?
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Question ID : 2134095318
Option 1 ID : 21340921269
Option 2 ID : 21340921271
Option 3 ID : 21340921270
Option 4 ID : 21340921272
Status : Answered
Chosen Option : 4

Q.5 <A R IReTteid =0T, e F st =0T F (1/6) §1 &, 2 W 12 N #R T 985 #7
AT =EAT 9T foRaeT geme

Ans X1_ 6 N
v22N
X312 N
X4 72N

213409
213409

equal to or less than the length of

Question ID : 2134095284
Option 11D : 21340921135
Option 2 ID : 21340921134
Option 3 ID : 21340921133
Option 4 ID : 21340921136
Status : Answered
Chosen Option : 2

Q.5 A car accelerating for two seconds would cover times the distance of a car accelerating for only one second
3 (cars starts from rest with the same acceleration in both the cases).

Ans x 1. ohe
v 2 four
&< 3. two
X 4 three

Question ID : 2134095294

17/56



Option 4 ID : 21340921175
Status : Answered
Chosen Option : 4

Ane X136 x 10
K218 x10°
v 36 x 106
X418 x 104

% 1 fsiareder (kWH) F=ir = Sl

QS5 o T # 9 T F 5 S FHA §| TF O N a9 F, 3@ A A
5 mEm # = fop e o & @ wE a

: 2134095264
: 21340921054
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Qé7 Identify the variable from below that does not describe the behaviour of a gas.

Ans 1. Volume
& 2. Pressure
' 3 Time
/< 4. Temperature
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5 Inthe question, two statements are given, followed by two conclusions, I and II. You have to consider the statements to
be true even if they seems to be at variance from commonly known facts. You have to decide which of the given
conclusions, if any, follow(s) from the given statements.

Statements:
1. Some lemons are yellow.
2. All yellow are lime.
Conclusions:
I No lime are lemon.

II.  Some lemon are lime.

Ans  f 1. Only conclusion IT follows

/< 2. Neither conclusion I nor II follows

< 3. Only conclusion I follows

< 4. Both conclusions I and II follow
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Option 1 ID : 21340921254
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Status : Not Answered
Chosen Option : --

are those dimensions that should not necessarily appear on the drawing.

Ans 5 1. Non-functional dimensions
< 2. Functional dimensions
#< 3. Object dimensions

4 Auxiliary dimensions
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Option 4 ID : 21340921375
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Q.5 Which of the following file is commonly used for finis de the teeth of gear wheels?
Ans X 1. Mill saw file

X 2 Riffle file

« 3 Barrette file

K 4. Cross file
Question ID : 2134095394
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Option 3 ID : 21340921575
Option 4 ID : 21340921574

Status : Not Answered
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Q6 Tigs are available for:
Ans X 1. turning
W 2. drilling and boring




< 3. grinding
< 4 milling
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Q.7 Which type of belt is used when the distance between the shafts is too short (<1 meter distance between drives)?
Ans o 1.V - belt
< 2. Ribbed belt
X 3. Link belt
X< 4. Flat belt

P e F ¥ B A
Ans X 1. 9ZTEAT

X 2. TFefr 9TEee

X3 e
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Option 11D :
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Option 4 ID :
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Q9 Which of the following is NOT a type of common threaded fastener?
Ans of 1. Nail

& 2 Bolt

&< 3. Screw

X 4 Nut
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Q1-1 Which of the following marking media is used for

Ans 3 1. White lead powder mixed wi
< 2. Chalk powder mixed
< 3. Chalk powder mixed w
+ 4 Prussian blue oil paint
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Option 1 ID :
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Status :
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Answered

4

Q,‘;1 Shearing the sheet into two pieces or more is known as
Ans X 1. notching

« 2. parting

/< 3. lancing

/< 4. grooving
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Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :
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Option 1 ID
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: 2134095383

121340921532
: 21340921529
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1 21340921530
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Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :
Chosen Option :
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21340921408
21340921407
21340921406
Answered

4

Q5'1 The dimension of a nut is expressed in te
Ans ¢ 1. pitch diameter of the bolt

/< 2. core diameter of the bolt

+ 3 nominal diameter of the bolt

X 4 head of the bolt
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Option 1 ID :
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Option 4 ID :
Status :
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v 2 63%
X 3 42%
X 4. 50%

Option 1 ID
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Status

Question ID :
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1 21340921469
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Option 3 ID :
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1 21340921471
: Not Answered
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: 21340921675

° © 21340921676
ption 3 1D : 21340921673
ption 4 1D : 21340921674
Status : Answered
Chosen Option : 4
Qé1 Tab washers are used:
Ans o 1. for locking the nuts
& 2. to maintain bore diameter
< 3. for dimensional accuracy
& 4. for structural assemblies
Question ID : 2134095362
Option 1 1D : 21340921445
Option 2 ID : 21340921448
Option 3 ID : 21340921446
Option 4 1D : 21340921447
Status : Not Answered
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Q9'1 Which of the following lapping abrasives is used for obtaining high quality finish?
Ans X 1. Diamond

/< 2. Emery cloth

+ 3. Aluminium oxide

< 4. Coarse grain abrasive
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Question ID : 2134095399
Option 1 ID : 21340921596
Option 2 ID : 21340921593
Option 3 ID : 21340921594
Option 4 ID : 21340921595
Status : Answered
Chosen Option : 2

de Which of the following instrument is NOT used to measure angles?

Ans X 1. Clinometers
/< 2. Bevel protector
/& 3. Protector head
« 4 Optical flats

21340953

Q1'2 Zinc coated iron is known as:

Ans  of 1. Galvanised iron
X 2. Black iron
< 3. Cast iron

X 4. Stainless sheet o
6 ' Question ID : 2134095372

Option 11D : 21340921486
Option 2 ID : 21340921485
Option 3 ID : 21340921488
Option 4 ID : 21340921487
Status : Answered
Chosen Option : 1

92 What is the included angle of a lathe dead center?
Ans W 607
X 2 45°
<3 90°
X 4 30°
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Option 1 ID : 21340921563
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Option 3 ID : 21340921564
Option 4 ID : 21340921561
Status : Not Answered
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l Chosen Option : - J
Q2 g i e o Fort 3 i SN S w5 B0 s e e
e X s
X2 FE TAEE
X o =1 p =
v ot

Question ID : 2134095375
ion 1 ID : 21340921497
1 21340921499
21340921500

Qf Which of the following is fitted on top of the ¢

Ans 1. Chuck
X 2 Saddle
< 3. Cross slide

4 Top slide

Question ID : 2134095390
Option 1 ID : 21340921557
Option 2 ID : 21340921558
Option 3 ID : 21340921559
Option 4 ID : 21340921560

Status : Not Answered
Chosen Option : --

%2 Which of the following welding process uses carbon dioxide?
Ans X" 1. Gas Tungsten Arc Welding (GTAW)

X 2 Shielded Metal Arc Welding (SMAW)

3. Gas Metal Arc Welding (GMAW)

# 4 Submerged Arc Welding (SAW)

Question ID : 2134095371
Option 11D : 21340921483
Option 2 ID : 21340921481
Option 3 ID : 21340921482
Option 4 ID : 21340921484
Status : Not Answered
Chosen Option : --

Q.2




few v By F @ 7T e F 9SS F g

[- Question ID : 2134095361
Option 1 ID : 21340921444
Option 2 ID : 21340921441
Option 3 ID : 21340921443
Option 4 ID : 21340921442
Status : Not Answered
l Chosen Option : --

Vagm A aEE _ FEwaey
A el & A SeaE # ah

X2 Jo F & TE-H-aeT A g
X 3. @Ea a T FAF0T Hiy-cEs

X 4 FEA 9X & TE BR W T BR

Question ID : 2134095354
Option 1 ID : 21340921415
Option 2 ID : 21340921416
Option 3 ID : 21340921414
Option 4 ID : 21340921413
Status : Answered
Chosen Option : 1

%2 Which material is used to make power hacksaw blades?




#< 1. High carbon steel

X 2. Mild steel

« 5 High speed steel

& 4 Medium carbon steel

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

2134095360
21340921439
21340921437
21340921440
21340921438
Not Answered

%2 The measuring faces of the slip gauges are finished by
Ans % 1. Honing
2. Lapping
/< 3. Reaming
& 4. Drilling

°

: 2134095353
: 21340921410

9‘

21340921409

21340921411
Option 4 ID : 21340921412
Status : Answered
Chosen Option : 2
Q.3 = - :
o. Which of the following is NOT a typ
Ans X 1. Optical
X 2. Pneumatic
3 Manual
& 4. Hydraulic
Question ID : 2134095396
Option 1 ID : 21340921582
Option 2 ID : 21340921581
Option 3 ID : 21340921584
Option 4 ID : 21340921583
Status : Not Answered
Chosen Option : --

Q1.3 WA w9 @, Tk TUE A R 9§ Gag e stee gann WiE R s 22

Ans of 1 FSATHRIT
X2 F
X 3 gAIA




Question ID : 2134095404
Option 1 1D : 21340921615
Option 2 ID : 21340921613
Option 3 ID : 21340921616
Option 4 ID : 21340921614
Status : Answered
Chosen Option : 1
02;3 e 9 &7 BT 710 o & oI Teateiad § § F 919 &7 39 ar S 87
Ane X1 BreR A=
X2 Eaw A=
v T A
X4 ooy AT
- 4
Question ID : 2134095377
Option 1 D4 21340921507
Option 21D :21340921505
Option 3 1D : 21340921506
Option 4 ID : 21340921508
Status : Answered
Chosen Option : 3
P - . .
Q3 - - g -
5 What is the purpose of an idler gear used in‘gear trains?
Ans X 1. To increase the contact area of pulley and belt
X2
To obtain minimum centre distance between driving and driven shaft
X 3.
To obtain maximum centre distance between driving and driven shaft
o 4 To have required direction of rotation
Question ID : 2134095357
Option 1 1D : 21340921428
Option 2 ID : 21340921426
Option 3 ID : 21340921425
Option 4 ID : 21340921427
Status : Not Answered
Chosen Option : --

Q3 Plain ring gauges are used to check:

Ans X 1. accuracy of external threads
/< 2. accuracy of internal threads
/< 3. inside diameter of work piece

W 4 outside diameter of work piece
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Question ID : 2134095366
Option 1 ID : 21340921463
Option 2 ID : 21340921464
Option 3 ID : 21340921462
Option 4 ID : 21340921461
Status : Answered
Chosen Option : 3

% PR AT wF B AAF FaE e A 2
Ans X 1. 25 mm
& 2. 65 mm
2100 mm
&< 4 50 mm

213409538

13409
1 213409

°é3 R q&T W (@R TFA) 10mm AR R

Ans X 1. 8.0 mm
V2 85 mm
<3 75 mm

X4 9.00 mm o
6 Question ID : 2134095379

Option 11D : 21340921514
Option 2 ID : 21340921515
Option 3 ID : 21340921513
Option 4 ID : 21340921516
Status : Answered
Chosen Option : 2

Q3 Which one of the following is a multi-point cutting tool?
Ans of 1. File

/& 2. Hammer

/< 3. Scrapper

X 4 Chisel

Question ID : 2134095418
Option 1 ID : 21340921670
Option 2 ID : 21340921672
Option 3 ID : 21340921671
Option 4 ID : 21340921669
Status : Answered
Chosen Option : 1




Y S s ¥ v 5w @ & 39 S S 2
M X e P ged g

v 2 359 FEE Tad ST
X 5 IegHIATH
X 4 gorEr o

Q9'3 R % =W 1 99 =4 & v FeRe 7w e

A X1 ol A
v 2 a3
X3 fawam o
X4 fOr A=

Question ID :
ption 11D :
2.1D

121340921431
: 21340921429

2134095358
21340921430

Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

Status

2134095395
21340921579

: 21340921580
: 21340921577
1 21340921578
: Answered

Chosen Option :

2

Ans f | boring

/< 2. reaming

/< 3. drilling

/< 4. countersinking

Qd4 The process of enlarging a hole size and enhaneing its surface finish is known as

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 2134095389

: 21340921553
: 21340921555
1 21340921554
: 21340921556
: Answered
Chosen Option :

1

Q4 ] 13 4. = :
;. The ‘ring oiling system’ is also known as:




Ans o 1. Splash feed system
/5 2. Grease feed system
< 3. Lubricator system [SU3]
< 4. Force feed system

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :

2134095421
21340921683
21340921681
21340921684
21340921682
Not Answered

Choesen,Option : -

S affr R¥e diFe T FT AT ST

A o1 @roT
X 2. IEF TH

X 3 HER
X 4 FafeE o

Ans x1.

X 2

U frea (@) F BT THE o FT 94T RO ST 82

R

Question ID : 2134095388
Option 1 ID : 21340921550
Option 2 ID : 21340921549
Option 3 ID : 21340921551
Option 4 ID : 21340921552
Status : Answered
Chosen Option : 1

—

Fhifeh Tg AN T ATell FIA-AEGHT (S16) FT TEA FLm @

Foiter Rege (ATTeT) ASRT #1 S8 9 T@T 3T Hohdl &
X 5. F2if SHET Tag & HHT 92T AT &

v 4 FEITR Tg ETH TdE/3TUR 9Sid Fidl &

Question ID : 2134095376
Option 1 ID : 21340921502
Option 2 ID : 21340921504
Option 3 ID : 21340921501
Option 4 ID : 21340921503
Status : Answered
Chosen Option : 4

% affhr doer et T AeuIcET BhaeT T ¥




v 5 (@)
X215 (fBae)
X320 (fFse)
X410 (fBae)

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

n

%t sifoiee S AR = O S a2
Ans x1ﬂm
X 2 Frer
X g
o 4 e

: 2134095403

121340921609
121340921611
121340921612
121340921610
: Answered
1

2134095370

‘p : 21340921480
ption 2 ID : 21340921477
Option 3 ID : 21340921479
Option 4 ID : 21340921478
Status : Answered
Chosen Option : 4
——
Q.4 2 50 mm 3 @ 150 mm & &= F TR =T TS F #F & forme 3w
6 v s 7
A o1 A e =
X 2 geme &=
X 3 g7 I15g
X 4 giee =
Question ID : 2134095410
Option 1 ID : 21340921637
Option 2 ID : 21340921638
Option 3 ID : 21340921640
Option 4 ID : 21340921639
Status : Answered
Chosen Option : 1

Q.4 Which of the following compass is used to scribe a circle or an arc with a large diameter?
7

Ans o 1. Trammel compass
< Ordinary compass




< 3. Wing compass
25 4. Spring compass

Question ID : 2134095402
Option 11D : 21340921608
Option 2 ID : 21340921605
Option 3 ID : 21340921607
Option 4 ID : 21340921606
Status : Answered
Chosen Option : 1

% TR gEe e F aReEar e @ §2
Ans of 1 0.02mm

&< 2 0.01mm °
< 3.0.2mm ‘
A4 0.1mm

384

921536
340921534

: 21340921535

121340921533

: Answered

1

%* Which type of thread is used in
Ans o 1. Buftress

« 2. Square

& 3. Knuckle

&< 4 Acme

Question ID : 2134095393
Option 11D : 21340921572
Option 2 ID : 21340921571
Option 3 ID : 21340921570
Option 4 ID : 21340921569
Status : Answered
Chosen Option : 2

st Which of the following process is used for super finishing of bores in ferrous metals?

Ans 71 Honing
< 2. Grinding
/< 3. Filling
< 4. Drilling

Question ID : 2134095407
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Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

21340921625
21340921628
21340921627
Answered

1

4% v T fwedt F ¥ TET F 9T F A TNT 9 g 11

Ans 1. BSW
v 2 BSP
X 3 BSF
X 4 BA

Q.5 The difference between the maximum limit of size and minimum limi

2

Ans & 1. Basic size
& 2. Deviation
& 3. Zero line
« 4 Tolerance

: 2134095408

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

: 2134095382
Option 11D :

21340921528

1 21340921525
: 21340921527
1 21340921526
: Answered

Chosen Option :

4

Q.5
&

Ans X 1. Annealing
/< 2. Normalizing
« 3. Carburizing
< 4. Tempering

is a process of case hardening in which the mter layer is made hard by increasing amount of carbon.

Question ID :
Option 11D :
Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095380
21340921518
21340921517
21340921519
21340921520
Answered

3




U5 ofafam F ¥ S O 3T ST TeRE SER & A P
A X1y A

°55 The least count of a steel rule is

Ans X" 1. 0.01 mm

X2 3y afesr

X 5 gdor 38T

v yffe afeEeT
Question ID :
Option 1 1D :
Option 2 ID :

Option 3 ID :
1 21340921545
: Answered

2134095387

21340921547
21340921546
21340921548

3

& 2.0.05 mm

3 0.50 mm

& 4.0.02 mm

: 2134095411
: 21340921641
Option 2 ID : 21340921643
Option 3 ID : 21340921644
Option 4 ID : 21340921642
Status : Answered
Chosen Option : 3
Eeee——————r
Q.5 Which of the following is NOT used to connect two sha 1 to transmit power?
6
Ans X 1. Bolts

+ 2 Ball bearings

5 3. Couplings

& 4. Keys
Question ID : 2134095424
Option 1 ID : 21340921693
Option 2 ID : 21340921694
Option 3 ID : 21340921695
Option 4 ID : 21340921696

Status : Answered
Chosen Option : 2

Q_,'5 The property of a metal to draw it into thin sheets is termed as
Ans o 1. Malleability
/< 2. Brittleness




/< 3. Toughness
X 4 Hardness

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

2134095378
21340921512
21340921511
21340921509
21340921510
Answered

1

Ans X 1. Knuckle thread
« 2. Square thread
# 3. Worm thread
< 4. Buttress thread

%° What is the purpose of a non-ret
Ans 1. It enables three-way flow
« 2. Tt enables one-way flow
X 3. It enables four-way flow

/X 4. Tt enables two-way flow

%° The type of thread used in lead screw of a lathe is

Question ID : 2134095413
Option 11D : 21340921651
Option 2 ID : 21340921649
Option 3 ID : 21340921652
Option 4 ID : 21340921650
Status : Answered
Chosen Option : 2

Ans  of 1. Arbor

X 2. Drift

< 3. Knurled ring
/< 4. Pinion & key

Qde Drill chucks are fitted on the drilling machine spindle by means of

Question ID : 2134095356
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Option 2 ID : 21340921423
Option 3 ID : 21340921421
Option 4 ID : 21340921424
Status : Answered
Chosen Option : 1

Q.6 In the hole basis system, the hole is kept constant & the size of the is varied to get the desired fit.
1

Ans & 1. Tolerance
V' 2 shaft
< 3. Hole
X 4 Fit

: 2134095355

21340921420
21340921417 ‘

Q2'6 Which hand tool is used to form inte
Ans 5 1. Scrapper

W 2 Tap

X 3. Drill

< 4. Reamer
Question ID : 2134095423
Option 1 ID : 21340921691
Option 2 ID : 21340921689
Option 3 ID : 21340921690
Option 4 ID : 21340921692

Status : Answered
Chosen Option : 2
—_— —_—r

9® Which material is used to make races of ball bearings?
Ans X 1. Brass

v 2. Chromium steel

& 3. Cast iron

& 4. Plastic

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 2134095400

: 21340921597
: 21340921599
: 21340921600
1 21340921598
: Answered
Chosen Option :

2

Q6 The surface connecting crest & root of a thread is termed as:




Ans 3 1. Thread angle

v 2. Flank
< 3. Depth of thread

X 4. Pitch

Y s A o # At et # e b
Ans X»]' 16
X215
v 18
X414

Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

2134095363

1 21340921452
121340921449
121340921451
: 21340921450
: Answered
Ch Option :

2

: 2134095365

: 21340921458
: 21340921459
: 21340921457
Option 4 ID :

21340921460

Chosen Option :

Status : Answered
Chosen Option : 3
Q8 Twist drills are made up which of th
Ans o 1. High speed steel
X 2. Titanium
< 3. Mild steel
X 4 Medium carbon steel
Question ID : 2134095374
Option 1 ID : 21340921495
Option 2 ID : 21340921496
Option 3 ID : 21340921493
Option 4 ID : 21340921494
Status : Answered

1

[ )

Ans X1 F=ar FiTeaA
X 2 FeT F F"rew F71 3Fared
Vv o oty TEET FT HIAFT AT

Q.6 vemmfTa, me, de dR T e 9 wE F gHe & Ty § rerpiees B S Y vgeen




X 4 gooh TS

Question ID : 2134095416
Option 11D : 21340921661
Option 2 ID : 21340921664
Option 3 ID : 21340921663
Option 4 ID : 21340921662
Status : Answered
Chosen Option : 4

°8-6 AT F @ g o 7er &, ST A 9T 3 A a% T w a2

Ans x.]_ o ;'E
2 =& A
X3 FTT AT

X4 I AT

1340921591
s : Not Answered

Q9.6 If you want to drill a hole in a s
Ans 1. pillar-drill machine

X 2. radial-drill machine
+ 2 hand-drill machine

X 4 bench-drill machine

Question ID : 2134095385
Option 1 ID : 21340921537
Option 2 ID : 21340921540
Option 3 ID : 21340921538
Option 4 ID : 21340921539
Status : Answered
Chosen Option : 3

G T IR FT WREE gEY TEEr 82
Ans X 1. oreETET HeSw
X 2 e Fw
X 5 gREEa Head
v i

Question ID : 2134095401
Option 11D : 21340921602
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Option 21D :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

21340921603
21340921601
21340921604
Answered

4

Q7 : gL i3
;. Which among the following is the use of a GO gauge?

Ans  of 1. To check the size of a hole
X 2. To check surface finish
< 3. To measure thread angle

< 4 To measure thickness of a plate

Q.7 When the size of a smallest hole is bigger than the size of the bi
2

Ans & 1. interference fit
< 2. progressive fit
W 2 clearance fit
X 4 transition fit

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :

Status :
Chosen Option :

2134095392
21340921565
21340921567
21340921566
21340921568
Answered

4

Q7 What is the purpose of a globe valve in a pipeline?
Ans 5 1. It provides strength to the joint
/< 2. It avoids water from getting heated

v 3. 1t controls water flow
< 4. Tt avoids vacuum being formed

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
Status :

Chosen Option :

2134095412
21340921646
21340921648
21340921645
21340921647
Answered

3




Q4-7 What is a metal’s ability to withstand wear, abrasion and penetration called?

Ans o 1. Hardness
/< 2. Toughness
< 3. Malleability
/< 4 Brittleness

Q7 A feeler gauge is used for
Ans 3 1. Checking accuracy of holes
o 2. Checking gap between the mating parts
/< 3. Checking radii of jobs
< 4. Adjusting the parts for play

°

Question ID :
Option 11D :
Option 2 ID :
Option 3 ID :
Option 4 ID :
: Answered
12

2134095367

21340921465
21340921468
21340921466
21340921467

: 2134095359
: 21340921436
Option 21D :
Option 3D :
Option 4 ID :
Status :
Chosen Option :

21340921434
21340921435
21340921433
Answered

2
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